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uint64_t DBImpl::GetTS(const std::string* val) {

uint64_t expire_time;

memcpy (&expire_time, val->data() + val->size() - sizeof(uinté4_t),
sizeof(uinte4 _t));

return expire_time;

}
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Status DB::Put(const WriteOptions& options, const Slice& key, const Slice& value,
uinté4_t ttl) {

std::string val time;
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uint64_t expire_time = std::chrono::duration_cast<std::chrono::milliseconds>
(std::chrono::system_clock: :now().time_since_epoch()).count() + ttl * 10e0; // =

// @ hnvalueffi{E

val time.append(value.data(), value.size());
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val time.append(reinterpret_cast<const char*>(&expire_time), sizeof(expire_time));

WriteBatch batch;

batch.Put(key, Slice(val_time));

return Write(options, &batch);
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Status DBImpl::Get(const ReadOptions& options, const Slice& key,
std::string* value) {

Status s;
MutexLock 1(&mutex_ );
SequenceNumber snapshot;
if (options.snapshot != nullptr) {

snapshot =

static_cast<const SnapshotImpl*>(options.snapshot)->sequence_number();

} else {

snapshot = versions_->LastSequence();

}

MemTable* mem = mem_;

MemTable* imm = imm_;

Version* current = versions_->current();
mem->Ref();

if (imm != nullptr) imm->Ref();
current->Ref();

bool have_stat update = false;
Version: :GetStats stats;
// Unlock while reading from files and memtables
{
mutex_.Unlock();
// First look in the memtable, then in the immutable memtable (if any).
LookupKey 1lkey(key, snapshot);
if (mem->Get(lkey, value, &s)) {
// Done
} else if (imm != nullptr && imm->Get(lkey, value, &s)) {
// Done
} else {
s = current->Get(options, lkey, value, &stats);
have_stat_update = true;

}

mutex_.Lock();
}
if (s.ok()) {
auto tl = env_->GetTime();
auto t2 = GetTS(value);
if(tl >= t2){

s = Status::Expire("Expire",Slice());
} else {
*value = value->substr(9, value->size() - sizeof(uinté64 t));

if (have_stat_update && current->UpdateStats(stats)) {
MaybeScheduleCompaction();

}



mem->Unref();
if (imm != nullptr) imm->Unref();
current->Unref();

return s;
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Status DBImpl::DoCompactionWork(CompactionState* compact) {

Slice value = input->value();

if (value.size() >= sizeof(uinté64_t)) {
const char* ptr = value.data();
std::string temp_str(value.data(), value.size());
uint64_t expire_time = DBImpl::GetTS(&temp_str);
uint64_t current_time = env_->GetTime();

if (current_time > expire_time) {
drop = true;
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/home/byc/design/leveldb/test/ttl_test.cc:67: Failure
Value of: status.ok()

Actual: false
Expected: true
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TEST(TestTTL, ReadTTL) {
DB *db;
if(OpenDB("testdb", &db).ok() == false) {
std: :cerr << "open db failed" << std::endl;
abort();

uinte4 t ttl = 20;
InsertData(db, ttl);

ReadOptions readOptions;

Status status;

int key_num = data_size / value_size;

srand(0);

for (int 1 = 0; i < 100; i++) {
int key_ = rand() % key num+1;
std: :string key = std::to string(key_);
std: :string value;
status = db->Get(readOptions, key, &value);
ASSERT_TRUE (status.ok());

Env::Default()->SleepForMicroseconds(ttl * 1000000) ;

for (int i = 0; i < 100; i++) {
int key_ = rand() % key num+1;
std: :string key = std::to string(key_);
std: :string value;
status = db->Get(readOptions, key, &value);
ASSERT_FALSE (status.ok());

}
delete db;

TEST(TestTTL, CompactionTTL) {
DB *db;
DestroyDB("testdb", Options());
if(OpenDB("testdb", &db).ok() == false) {
std::cerr << "open db failed" << std::endl;
abort();

uinté4 t ttl = 20;
InsertData(db, ttl);

leveldb: :Range ranges[1];

ranges[0] = leveldb::Range("-", "A");
uinte4_t sizes[1];
db->GetApproximateSizes(ranges, 1, sizes);



ASSERT_GT(sizes[@], 9);
Env::Default()->SleepForMicroseconds(ttl * 1000000);
db->CompactRange(nullptr, nullptr);

leveldb: :Range rangesl|[1];

ranges[0] = leveldb::Range("-", "A");
uint64_t sizesi[1];
db->GetApproximateSizes(rangesl, 1, sizesl);
ASSERT_EQ(sizes1[0], 0);

delete db;
}
[z=========] Running 2 tests from 1 test suite.
[========-- 1 Global test environment set-up.
[---------- 1 2 tests from TestTTL
[ RUN ] TestTTL.ReadTTL
[ OK ] TestTTL.ReadTTL (20803 ms)
[ RUN ] TestTTL.CompactionTTL
[ OK ] TestTTL.CompactionTTL (20989 ms)
[---------- ] 2 tests from TestTTL (41792 ms total)
[----=-=----- 1 Global test environment tear-down
[==========] 2 tests from 1 test suite ran. (41792 ms total)

[ PASSED ] 2 tests.



